oledd

Ooon

Sturm-Liouville O O OO OO OO OO
Oo000ooooooooooogno

o 17t 20 20

Oooo:oddood ooo

guoouoboooooobgd

1g00p018-30 L L I I [



1 00 3
L1 OO0 . e 4
1.2 000000 .. e 5
1.3 000000 . e e 5

2 Sturm-LiouvilleOO O OO0 6
21 0000 ... 7
22 000000000000 ... e e 7

221 0000 .. e 7
222 00000000 .. 8
2.3 Sturm-Liouville DO D OO0 . . . .. .00 0 e 8
231 O0O0O0OO0O0O0O .« .. 9

3 0Oooo 10
3.1 O000 ..o 11
32 000000000 .. s e 11
3.3 Galerkin OO . . . . .. . 12

3.3.1 O0O0O0 ... 12
332 0000000 ... e e e 13
3.4 0000000 . e e 13
3.5 00000000D00000000O0 ..o 14
3.6 OODOO ..o s 15



4 00O
41 0OO0O0O ..

42 10000000000 .0 e

4.3 20000000000 .. 00 o e

44 DO0O0OOO

5 Ugono
5.1 ODOOO ..
5.2 UOODOOOO
5.3 oo ...
53.1 OO0
532 00O
5.3.3 00O
534 0O0OO
54 0O0ODOOODO
5.4.1 0O0OO
042 00O
5. UOoooddg
5.5.1 OO0
5.5.2 OO0
.53 00O

6 UugoooDooug
6.1 OO ....
6.2 00O0OO0OO

HRN

gooo

Sturm-Liouwvile OO OOOOOOOO ... ... ... ....

OO
L
2
P

0

OO

1000 .00
2000 oo
3OO0 o

18
19
19
20
22

24
25
25
25
25
28
29
30
31
31
31
31
32
36
40

44
45
45

46

48



1 [

L] [



1.1 OO

gogoduobobobobbboooooouououobobobbboooooouoooo
goooobbobbbbooboooooooouooobbbbbbuoooooooooo
ggouoobobobbboooooooouououooobbbbbbooooooouoooo
gobboboooobbooooooboooobbbooooobobbooooboboboo
gogooobbbbouooooooubobbbbuoooooouobobobobobobobbouoo
gogodoooobbbbuoooooooogoooo
gooooubbbobbbooooooouoouooob bbb oooooooo
gogdooooobbobbboooooooooooobbbobbooooooooooo
goooobbobbbbooooooooououooobbbbboooooooooooo
0000000000000 0000000000000000000000000 (Finite
Element Method : FEM) OO 00O 0O O (Finite Difference Method : FDM)O OO O OO 0O
gogdd
guoooobbbbbbooooooouooobbbboooooooooooo
ggouoobobobbboooooooouououobobbbbbboooooouoooo
guoooobobobbbbbotboooooooobbbooooobobbbbboboooo
gugouooboobbboooooodooououooobbbbbboooooouoooo
gobobbooooboboooobooboboooobbbooooobobboooobbboo
ggooobobobobbooooodouobuooooooouobobobbbbboooooo
goooooooon
gogooobobobobbbuoooooooouooobbbuoooooooooo
ggodooooobbboboooooooooooobbbobobbooooooooooo
goubbgoobboooobbooobbooobbooobboooobbuooon
000 1000000000000 bb0U L,LOOOoOoOoboDbOOOdNitchel OO

lu — [l < O(h*)  (h = max h;)

gbbogobbuooobbobbboobboobbuooobbuooobbogn 1986



0 Mantauffel- White D0 OO0 DO O0O00OD0O0OD0O0OO0OO0OOODOODOODODOOO
max |u; — U;| < O(h?)  (h = max h;)
] 7

goboboooobbodd
gobbboogobobooooboboboooobbobooooboboboooobobo
gobbbooogbbbuoooobbbooobbboooobbobuoooobboao
gobbbooggbobobuoooobobbooobobboooobboboooobobooo
gobbbooogbbbuoooobbbooobbboooobbbuoooobboao
gobbooogbobbuoooobbbooobobboooobbobooooboboao
gobbbooodgbbbuoooobbbdooobbboooobbboooobboaon
gobbooggbbobuoogobboooooon

1.2 000000

0000000000 00DOD0O Dirichlet 0000 OO Sturm-Liouville O 0 O 0O O
gbobbooogbbbuooobbbooobbboooobbbuoooobbooo
gobobooogbobobuoooobobboooboboboooobbboooobobooo
gbobobooogbbbuooobbbooobbboooobbbuoooobboao
gobobooogbobbuoooobobbooobboboooobbboooobobooo
gbobbooodgbbbuooogbbboo

1.3 O0O0oogdn

gboboboooobobooooboo
0200000000000000 Stum-LiowilleDOODODOOOOOODDOO
g30bb1boggoboboooobbobuoooon
4000 100000000000 b00bO00bOo0bOo0b00on
OsS0000000000000000D00 Sturm-LiowilleDOOODOOOOOOOODO
goooobobbooooobobobbooooooboboab
gbobbeboodbbboooobon



1 2 [

Sturm-Liouville O 0O 0O O O



21 0O00O0O0O

O000DbO0000bD0oboboooOoDO Stum-LiowlilleDOODOOOOOODOODOO
gobbboodgbbboooobbbuooobobboooobbboooobbboo
gobboouooobbobooogn

22 JOoooooboogubod

goooo

y = flz,y,y )0 (a <z <b) (2.1)

goboboogooboboooobobooooboo

yla) = a,0y(b) = F (2.2)

O000000000000000000000 [e,b000000000OOO0OOODOOO
00000000000 (Boundary Value Probrem : BVP)OOOOO0O 10000
Oobdbooooog2ioogbo200b0000ooaon

221 0O0O0OO

(22)0 0000000000000 O00OOOODOOOOOOO

Buly] = ary(a) + asy (a) = o, 0 Byly] = biy(b) + bay (b) = (2.3)

O0000000a@0a00,00, 0000 ag =a=000000=0=00000000
gbobboggbobuogdab200bbobooooboboooobboooobood
oboobobooboobbooboooboobboob2000b000bO00ODbDOd
gboboobo200000b00000bbobooooboboooobobobod
0(23)00000a=b0=000000000 (22)0000000000 Dirichlet O
gbobooogil1oboobooooobn

OD000e=0=000000000

/

y'(a) =a,0 y'(b) =5

7



0000000000000 o0oooo0o NeuemannO OO0 QOooo 2000000
ogoo
O000ONeumann O OO Dirichlet OO OOQOOOOOO

ary(a) + azy (a) = a, biy(b) + boy (b) = B

Oo0o0obOobob RebinOOOOoOoooboooboobOoOoO

222 0UO00O0O0OOOO

D00000000000000OLees(1961)000000000000000
0
0021000 f(x,yz) O

D={(z,y,2) |la<zx<b, —c0o<y<oo, —o0<z<o0o0}
oooboooooooooobooob fof0000D00
£,>00|f/<MO(MOOODO)

00000000000000000 (21)0(22)0e<2z<b000000000 C20
0000000000

0000000000000 00oooooOoEHOER2)D00000Doo0oooooon

2.3 Sturm-LiouvilleO OO OO O

000 [0,b|0000000000000000000 p() 000000000 o(z)0
00000000000000000

d dy
Ll =~ ()52 + ol (2.0
X
00000000000 000 LO Sturm-Liouwville OO OO0OOOO0OOOO0O
Lyl =g(x)0 (a <z < b) (2.5)

8



g(x) € Cla, b
00 y(x) 00000
B.ly] = a1y(a) + agy,(a) =, 0 Byly] = biy(b) + b2y,(b) =f (2.6)

000000000 Sturm-LiouvilleDO OO 0O (Sturm-Liouville Boundary Value
Problem) 00 00000000000000y(»)=0000000000000000
000000000 2100000000000000 y(z)OOOO

231 00O0Oboogn

00000 Dirichlet 00000000020 100 I(x)O

0 2.1: I(z)

0000000(e) =0a,l(b)=4000000000000u(z)=y(x)—(z)00000

L (#)52) + ot = o) — o(aie) +1 @ ()T (0 <2 <)

00000000000 (24)0(25)0(26)000000000000000000

_% (p(@j—i) +o(x)u=f(x)0 (a <z < b) 2



U 3 0

HRERERERE

10



3.1 0000

gobbobuogoobbooooobbbooobobobbooogboobooooobon
O O Finite Element Method : FEMO O UOUOOOOO0O0O100000000000O00

gobbobugoobbbooooobbboooobobbooooboboooobon
gbogboobooobooboobooboobooboobooboobooobgd
gobobooogd

3.2 OOOOOOOOO

00b00bobo0oobobooboobbooboobboobobooboobbo200
ggbbobuoooobbooobooon

v(a) =v(b) =0 (3.2)

0000000000 000DOO0O0OC0C0CO0O0000O0O0OOOOOOOO@EHOoOoO-d
v 00020000 «0000000000

b b
/{—(pu/)l—i-ou}vdx:/ fodx (3.3)
0000000 (3.3)00000ooooooooooo
b o7 / b b
/{puv + ouv}dr + [—pu v} :/ fudx (3.4)
0000000 (3.4)0 (32)00
b b
/{puv +qu}dm:/ fodx (3.5)

000035 000000000 (3.1)0000000 (weak form) 000000 (3.5)
0 (3.2)0000000+000000000000000000000

11



0000000000 w=wu(z)0 35)000000000000O000O0O 3.1)OooooOo
gboobbooboobooboobboobooboobbooboobdtebOd
0000000000D0DODODODOO000000D0D0DODODOD (3.1)000000oooooo
000 (3.5)0000000000000000O000O0O0O0O0O0O00OOO0OOODOO
gobbbugobbbboooobobboooobbbooooboboon

b
[u,v] = /{pu'v/+auv}dx
b

(f,v) = / fodx
0000 (3.5)0
[u,v] = (f,v) (3.6)

goooo

3.3 Galerkin([]

3.3.1 U000

(3.6)000000000000000«w000000O0O0000OOODOOOOOOO
gbbb.000b0bbuoobbbboooobbbuooobbouoonobobogon
gbbggboobogoboogobuoooobobuoobbudgb«0bbogbbogbo
(3.6)0000«w00000000

=1

O00o0ooo00¢,(1<i<m, mIOOO0OOOO0O)0,00000000000000
gooo
di(a) = ¢i(b) =00 (1 <i<m)

0000000000 0000000000000000000000000a0 (3.1)
ggbooobouogoooon

12



3.3.2 UOOOOO4O

wO00000O0 (3.7)0 400000000000 ¢(1<i<m)0000000000
0000 (3.1)0000000000000000000000v0 (32)0000000 «
0000000O00w(z)000

¢](a>:¢]<b):0 (]:17277”7')

00 ¢;(x)00000000000000 (32)0000000 40 ¢;(z)0 (3.6)0000
00

[ﬁv ¢]] - (fa ¢]) (] = 1727 U 7m) (38)

[Zcmwj] = (f.¢y) (G=12--,m) (3.9)

i=1

gobbooomobobobOoooobbboooobo

[¢1, ¢1] c [¢m7 ¢1] 1 (fa ¢1)
: : : = : (3.10)

[¢17.¢m] T [Cbma ¢m] C'm (f, ¢m)

0000000000 mOD0OO0O000000000000000 ¢(1<i<m)0000O
0000000000« ooDoooooOooOogoo
00000 GalerkkinOOQOQOnQO

34 UO0OOOOOO

000 [e,b)DnO00000O0O00OO
N:a=xg<x;<--<x,,=0>0

hi =T —xi_l,D h = maxhz
i

O000000200000000000000 S¥(-)000 AODODDOODOOOOOODOO
gooon

13



o ST(z) € C™ a,b]

e SY(x)DOOODO [z, 000000000

3.5 UOouoooobooobooobond

000000 Galerkin0O0O0O0O0O0000000¢,0000000000000000
0000 (3.1)0000000 [a,b) O

a=xg <1< - -<xp=0>

UnU000«000000

n—1
u(x) = ch‘@(x) (3.11)
=1
O0dde; O
V
T b
h;
| | | €T
O 1’(]0 ISL’1 Ixn
% (i1 <z <uay)
¢1(I) = M (JZZ <z < xz‘—l—l)
h’i—l—l
0 (Oo0o)

000000 1000000000000¢ 0 3.10)000000000 w(x)O0 z=2,0
gboboboobooboobob«wbw0b0oboboobbob10000000
gboboboooobb«s0uooonoooogn

14



(3100000000

(D1, 01] o [, 01 a (fs 1)
: : L] = : (3.12)
[¢17 ¢n—1] U [an—l, ¢n—1] CZ—I (f7 ¢n—l)

gboobodobilgbobooboobobooboboboooboboe,b0onbd

b ¢/ z- <z>+ &
XN

03200000
0O0O0fi—4|>2000

gobboboooobbooogoobod

[¢1,¢1] [¢27¢1] 0
(P2, P1]  [@2, P2]  [D2, B3]

[¢n727 (bn—?)] [¢n727 (,ban] [¢n727 (bnfl]
0 (Gn-1s6n-2]  [Sn-1, bui]

gbooboog3bbobuogaobn

3.6 0OUOOO

gbhudgbboobuoobobuodgbbooboobbodobbbpd cgbbboon
0o [IZ_hZEJD[[Ez,l’H_l]DDDDDDDDD

Tit do; do; o o
(@i, &, :/. {p(az‘) di % +a(a7)gbigbj}d:v (j=i—1,14,i+1)

do; do; [ i do; do; [T+ Tit1
S [ @t [ o@osde+ 20 [T e+ [ atw)ondsas

15



_doid i+ T o i+ T o
DI [ e o) [ by
Ti—1

“dr dx 2 9
doido;  xip1 + @ /z”l Tit1 + T /xi+l
+ dx dx P 2 ) N dx + o 5 ) g Gip;dx

Ti—1

d(bz d(bj Ti+ T T; + xz 1 /
= h i E— 3 d
(P + dugyo 0i0ds
d¢1 d(b Tit1 + T Tiy1 + X5 Fitl
+ %d—;p(%)hiﬂ + ¢i¢j0<+T) /mz Pipjdx
ggog
_ Ti-1 + xX; _ Ti—1 + ZT;
p’L - ( 2 )7 0-74 - ( 2 )
ooy =:000
1 h; 1 hiy
(b3, i ~ P tgoit hz+1pz+1 +3 o
j=¢+1000
I hiv1 _
[(bza ¢z+1] ~ _hi+1pl+1 + 6 Oi+1
j=i—1000
1 hi _
[y Pia] = _h_iﬁi + gUz‘

ggbbobuoooobbooooboboboooobbooooboboboooobobboo
gboobgobobbobooboobooboobobboboobooboobo
ggbbobooogbobobooooobbboobuoooonobobobouoooobobobog
goboooogd

Tj—1+ T

=

)

goon



-/ flassie+ [ oo

J

% _ Tjt1
%fj/ ¢jd33+fj+1/ ¢jdx

J

:Ej it 9 fj_+1
gooooooon
1 _ h;
_z—__iu sz_Z_z
“W=5r 3
0000000 e0dOAOB O
hy - h
. _lfl + —2f2
€1 }%2 7 }123 7
¢ 7f2 + §f3
c= , d= :
* hn— _ hp_1 .-
e
Cn_l %n—lf +%1nf
2 n—1 2 n
ay + as —as O
— Q9 Qo + as —as
A= '
—Qp_2 Ap_9+ Qp_q —Qp_1
O —Qp—1 p-1 + ay
bl —t- 52 % - O
2 ohytby B
B = :
bn{ L bn_—2 —1— bn_—l 7bn27 ! B
0 bt by + by
00000000000000 (3.12)0
(A+B)e=d (3.13)

goooo

17



1 4 [

HRERE

18



4.1 0OO0OO

000000000 D00Db0O0Db00Db0O0Db0DbD0O0DODOO Finite Difference

Method : FDM) O O 10000000000000000O00O0O0OO0OOOOOOOOO

gobbboooobbooooboboooobbooooboboboooobboboo
Oooooboolibooo0oooooboog200000000000Sturm-Liouvilled O

ggbboboooooboodan

4.2 10000000000

goooo

_%(p(x)z_z) +o(z)u=f(z)0O (a <z <)

0000000 [q,0]0
a=xg<r1<---<x,=0>
ooooodd x(i=0,1,---,n) 0000000 KO
h; =x; —x;_10

O00000u(x)0 z2=2,0000 TaylorO OO

2
hZ+1 "

W@+ hip) = u(@g) + hia () + o1

2! 3!
gooooood

<& <wxi+hi, 0z —hy <& <ux;
D000 (4.3)0 (440000000

2 2
hl+1 _h "

w(z; + hiv1) —u(z; — hy) = (higr + hi)u,(xi) + 5 “u () +

19

2 3
u(z; —hy) = u(wg) — hiul(ﬂfi) + &U”(l’i) - ﬁu”’(@)

h?+1u (§+)

(4.2)

(4.3)

(4.4)

+ ()




0000000000 (his+h) 0000

hiou” (&) + hdu" (&)
6(hit1 + hi)

u(w; + hiy1) —u(w; —hy)
B I =u (z;) + 5 U (x;) +

O0000000«020000000000000z=x0000w(z)01000000

/ w(w; + hip1) — u(x; — hy)

u(Ziy1) — u(w; 1)
4.6
hiy1 + h; (4.6)

0000005 0000000000000000000DO0ODODDOOOCOOOO0OO
god

"

heou” (€0) + hiu” (€)
6(hit1 + hi)

hivi — h; o
Pon e () +

0000000000000 0000000000000ODODO0000nD 4500000

0<h2) O (h = hi+1 = hz> O
O(h) 0 (hiJrl 7é hl> 0 B = Imax (h’i+17 hz)

gooo

4.3 20000000000

g(mw?)~(DDx:%DDDDDDDDDDDDDDD@DD@mDDDD
X X

Litl

1 1
- 5(% + 2it1), 0 Ty 1 = 5(% +151)

h hi
;DMDDDDD(%—m_

7

00000045 00hy00000 (2,1 — ;=)
000 (1)0000000o0o0

20



CTREY —priy) o
d du x:x,H,% I:Iii%
— — ~ 47
o (p(:r)dx> Lx bt i (4.7)
2 2
000000 (4.6)00000 (240 2,0 24) 00000 (2,0 2,410 2,,,)00000

du ou(@ign) — ulwy)
dx T han | hin
T=x, 1
= 2 2
du _ou(wg) —ulig)
dz ~ hi  h
T=r, 1 _t _t
? 2 + 2

00000000 4nHoooooo

w(zipr) — u(zy) u(z;) — u(z;_1)
p('xz’—&—%) Rit N Rist _p($i—%) h; hy
2 2 2 2
ho 48)
2 2

gbligbbuogoboodob2000bboobbodo20bbooobbuoooboog
000000 Shortley-Weller(S-W) OO OO O0OO0OO0OOO

pi+% = p(xﬂ_%), O pi—% = p(xi—%>7 O u; = U(.Il)

000048000000

(o) (49)

r=x;

goooo

21



4.4 000000 Sturm-Liouville OO OO0DODOOOO

Sturm-Liowville 000000000 O0O0O0OCOOO [0,1]0000O

—%(p(x);i—z) +o(z)u=f(z)0 (0<x<1)

(4.10)
u(0)=u(l)=0
plx) € C'0,1], 0 o(x), f(x) € C[0. 1]
p(z)>0,00(x)>00 (0<2z<1)
O0o00ooooooo 10
O=zo<m1 < <x,=1,0 hi = x; — x;_1
0n,000000 (i=0,1,---,n)0000 000
(pi+§ = piy1), 0 D1 = Di
o(x;) =0;,0 flx;) = fi
0000041000000 (49 00000u(z) =« 00000 U; 0000
U — U Ui — Uiy )
R
— ’L+}1L' +h 1 +O-zUZ:f7fD (i:1727... ’n_1>
o 2 S (4.11)
2
UOI'LLOIUn:Un:O

Vs

ooooo u(i=1,2,---,n—1)0000~—-10000000000000000OO
(OO0)oooooooooy,0D00o0ooooooo@Aly)oooooQ

2 Di Div1 . Pi . hiy1 + Dy Pit1
—_ —— |U;_ —t ——0; |U; - U; = f;(4.12
hiv1 + hi {( hi) v (hi+1 - h; T - hi) fi(4.12)

(i=1,2,--,n—1)

22



ggooobod

0000000 HOUOfOADOBO

2

Pithy 0 Uy J1
ha+h3 U2 f2
H = : O U= O f =
2
hp—o+hn—1 UR—Q fn,2
O hn—l+hn Un—l fn—l
ap + as —as 0
—Q9 as + as —as
A=
—Qp_2 QAp_2+ Gp —Qn—1
O —Qp—1 Ap—1 + Gp,
b1 O
ba
B =
bnf2
0 bn—l

00000000000 (4.12)0
H(A+B)U = f (4.13)

0000000000000 HA+B)ODDDDODOODODODODOODDOODDODOODOOOOO
000¢4.13) 0000000000000 0o0o0oooooooooooo

23



5 [

HRERERE

24



5.1 O0OOO

000000000 Stum-Liowille D 0D OOOO0ODOOO0ODOODOOODOOOODOO
gobbboodbbboooobbbuooobobboooobbboooobbobao
ERERE

5.2 OOOOOO

gobobobooodn

CPU Pentium4 2.26GHz
gogdno 256MB
OS WindowsXP

O00000000000000000 MATLAB(version 6.5.1)0 00000000000

5.3 000

5.3.1 00000

00000000000000000O0O|0,1)0000000 510052000000
000 (0,0.1) 00000 MATLABO rand00 0000200000000 100000
O000000O0ogoo,lj0200000000000000000DO0O0DMIODUBODODOO
gboobooobobooobobobooboboooboo 200400800 1600 3200 6400
1200000000000000000OOOO0ODLODOO20000000010000
gobob20bo00ogooobbboobobbbouoooooobbboobboodago
gooo

25



O0:x; O O00:h =x; — xi—1 0

o 0 - -

1 3.0621e-002 hy 3.0621e-002
T 4.1837e-002 ho 1.1216e-002
T3 8.6166e-002 hs 4.4329e-002
Ty 1.3284e-001 hy 4.6674e-002
T 1.3431e-001 hs 1.4700e-003
Tg 2.0071e-001 he 6.6400e-002
T 2.7312e-001 h; 7.2410e-002
Tg 3.0128e-001 hs 2.8160e-002
T 3.2747e-001 hgy 2.6190e-002
10 3.9831e-001 h1o 7.0840e-002
11 4.7670e-001 h11 7.8390e-002
T12 5.7531e-001 hio 9.8610e-002
13 6.2265e-001 his 4.7340e-002
T14 7.1293e-001 hi4 9.0280e-002
T15 7.5804e-001 his 4.5110e-002
T16 8.3849e-001 hig 8.0450e-002
T17 9.2137e-001 h7 8.2880e-002
18 9.3800e-001 hig 1.6630e-002
T19 9.7739e-001 h1g 3.9390e-002
Tag 1 hag 2.2610e-002

gsl: 000000 1bbobuooaon

26




O0:x; O O00:h =x; — xi—1 0

o 0 - -

1 9.3310e-002 hy 9.3310e-002
T 9.9623e-002 ho 6.3130e-003
T3 1.2604e-001 hs 2.6417e-002
Ty 2.2600e-001 hy 9.9960e-002
T 2.4720e-001 hs 2.1200e-002
Tg 2.9704e-001 he 4.9840e-002
T 3.2609e-001 hr 2.9050e-002
Tg 3.9336e-001 hs 6.7270e-002
T 4.8916e-001 hgy 9.5800e-002
10 5.6582e-001 h1o 7.6660e-002
11 6.3243e-001 h11 6.6610e-002
T12 6.4552e-001 hio 1.3090e-002
13 6.5506e-001 his 9.5400e-003
T14 6.5655e-001 hi4 1.4900e-003
T15 6.8537e-001 his 2.8820e-002
T16 7.6704e-001 hig 8.1670e-002
T17 8.6559e-001 h7 9.8550e-002
18 8.6733e-001 hig 1.7400e-003
T1g 9.4927e-001 h1g 8.1940e-002
Tag 1 hag 5.0730e-002

g s200000020000000

27




5.3.2 UUUO1

Sturm-Liouville O O OO0 0O O

—% (p(x)Z—Z) +o(@)u=f(z) (0<z<1)
u(0) =0, u(l)=0
godd
plr) = ¢
o(r) = 7"
f(z) = me*(2msinmz — cosmx)

goooooon
u(z) = sinmx

gboobooobooboobod

L

gsl:0001000o0o0oo0d

28



5.3.3 UUO2
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gogg
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olx) = ¢€°
flz) = ™M™ _ e _4rcosdme™™ ™ 4 1672 (z + 1)e¥™ ™ (sin 47z — cos? 47x)
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53.4 UUO3
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5.56.1 OO0 1000
gono h = max h; DDDDD(FEM) DDD(FDM)
max |u; — ;| max [u; — U]
20 9.8616e-002 || 3.2467e-003 3.3389e-001 1.1697e-003 1.2029e-001
40 4.9308e-002 || 8.1017e-004 3.3327e-001 2.9208e-004 1.2015e-001
80 2.4654e-002 || 2.0245e-004 3.3311e-001 7.2998e-005 1.2011e-001
160 1.2327e-002 || 5.0606e-005 3.3307e-001 1.8248e-005 1.2010e-001
320 6.1635e-003 1.2651e-005 3.3306e-001 4.5620e-006 1.2010e-001
640 3.0817e-003 || 3.1628e-006 3.3306e-001 1.1405e-006 1.2010e-001
1280 1.5409¢-003 || 7.9069e-007 3.3306e-001 2.8512e-007 1.2010e-001
O 5.3 000 I(DDDDDD 1)DDDDDDDDDDDDDDDDD
000 | h=maxh; DDDDD(FEM) DDD(FDM)
A [Jlu —u [ [Ju—Ull

lJu —u*|[x T2 llu—Ulh Tz

20 9.8616e-002 || 1.6607e-003 | 1.7079e-001 | 6.3892e-004 | 6.5706e-002

40 4.9308e-002 || 4.1439e-004 | 1.7046e-001 | 1.5719e-004 | 6.4659e-002

80 2.4654e-002 || 1.0355e-004 | 1.7038e-001 | 3.9122e-005 | 6.4372e-002

160 1.2327e-002 || 2.5884e-005 | 1.7036e-001 | 9.7678e-006 | 6.4289e-002

320 6.1635e-003 || 6.4708e-006 | 1.7036e-001 | 2.4414e-006 | 6.4274e-002

640 3.0817e-003 || 1.6177e-006 | 1.7036e-001 | 6.1028e-007 | 6.4267e-002

1280 1.5409¢e-003 || 4.0442¢-007 | 1.7036e-001 | 1.5257e-007 | 6.4267e-002

DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD}LDDD
gbogobgobobobbooboobooboobobobobboboobooboobo

gboooboobobbobboboobs4bUbsunnon
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000 | h = maxh, 00000 (FEM) 000 (FDM)
1 max |u; — c;| max |u; — U]
max |u; — | L 2 max lu; — Uy L 2

20 9.9960e-002 || 1.5439e-003 | 1.5452e-001 | 3.0403e-003 | 3.0427e-001
40 4.9980e-002 || 3.8700e-004 1.5492e-001 7.6409e-004 3.0588e-001
80 2.4990e-002 || 9.6813e-005 1.5502e-001 1.9128e-004 3.0629¢-001
160 1.2495e-002 || 2.4207e-005 1.5505e-001 4.7835e-005 3.0639¢e-001
320 6.2475e-003 || 6.0520e-006 1.5506e-001 1.1960e-005 3.0642¢-001
640 3.1238e-003 || 1.5130e-006 1.5506e-001 2.9900e-006 3.0642e-001
1280 | 1.5619e-003 || 3.7826e-007 | 1.5506e-001 7.4751e-007 3.0642e-001

055 000 (000000 2)000000000O00000O0O00O0O0

000 [ h=maxh, 00000 (FEM) 000 (FDM)

T e T T e
20 9.9960e-002 || 5.9071e-004 | 5.9118e-002 | 1.6049e-003 | 1.6062e-001
40 4.9980e-002 || 1.3034e-004 | 5.2178e-002 | 4.0109e-004 | 1.6057e-001
80 2.4990e-002 || 3.1763e-005 | 5.0862e-002 | 1.0032e-004 | 1.6064e-001
160 1.2495e-002 || 7.8866e-006 | 5.0515e-002 | 2.5075e-005 | 1.6061e-001
320 6.2475e-003 || 1.9672e-006 | 5.0400e-002 | 6.2694e-006 | 1.6063e-001
640 3.1238e-003 || 4.9164e-007 | 5.0384e-002 | 1.5674e-006 | 1.6063e-001
1280 | 1.5619e-003 || 1.2289e-007 | 5.0378e-002 | 3.9185e-007 | 1.6063e-001

056: 000 (00000020000 100000000

DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD%LDDD
gogbbbuogobbooogbbbuoooobbbouooobobboooobboboo
gogbbobuoooobbooogbooboggsebos7obod

34



158 F

fRrEREDRAIE

05+

el 1 1 1 1 1 1 1
0 nm ooz (] 0.04 n0s 0.0& 0oy nos 009 01

h = max h,

056: 000 1(00000D02)0000000000C0C0000O00OODODOOO

1AL

08t i
06 F
04+

02

L 1 1 1 1 1 I 1
1 0m noz ooz no4 n0a nog novy nog ] 01

h = max h,

057000 1(0000D0DO2)0000100000000O0ODO

35



5.5.2 00O 2000

000 | h=maxh, 00000 (FEM) 000 (FDM)
Z max |u; — ;| max |u; — U]
max |u; — | ’T max lu; — Uy ZT
20 9.8616e-002 || 7.6571e-001 | 7.8735e+001 | 1.2923e+000 | 1.3288e+002
40 4.9308e-002 || 1.3505e-001 | 5.5546e+001 | 2.6068e-001 | 1.0722e+4-002
80 2.4654e-002 | 3.1065e-002 | 5.1110e+4001 | 6.2120e-002 | 1.0220e+-002
160 1.2327e-002 || 7.6105e-003 | 5.0084e+001 | 1.5352e-002 | 1.0103e+4-002
320 6.1635e-003 || 1.8931e-003 | 4.9833e+001 | 3.8272e-003 | 1.0075e+002
640 3.0817e-003 | 4.7267e-004 | 4.9770e+001 | 9.5612e-004 | 1.0067e+002
1280 | 1.5409e-003 || 1.1813e-004 | 4.9754e+001 | 2.3899e-004 | 1.0066e+-002

0570002000000 1H)0000000O0OOOOOOOOOO

DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD}LDDD
gbogobgbbobbooboobooboobobbobboboobooboobo

000 [ h=maxh, 00000 (FEM) 000 (FDM)
o =i | P2y, | 2T
20 9.8616e-002 || 3.3875e-001 | 3.4832e+-001 | 5.4056e-001 | 5.5584e+-001
40 4.9308e-002 || 5.4483e-002 | 2.2409e+001 | 1.0171e-001 | 4.1834e+4-001
80 2.4654e-002 || 1.2336e-002 | 2.0295e+-001 | 2.3964e-002 | 3.9426e+-001
160 1.2327e-002 || 3.0112e-003 | 1.9816e+001 | 5.9073e-003 | 3.8876e+001
320 6.1635e-003 || 7.4835e-004 | 1.9699e+001 | 1.4717e-003 | 3.8741e+4-001
640 3.0817e-003 || 1.8681e-004 | 1.9670e+001 | 3.6761e-004 | 3.8707e+4-001
1280 | 1.5409e-003 || 4.6686e-005 | 1.9663e+001 | 9.1883e-005 | 3.8699e+4-001
058 0002000000 1H000010000000O

gobbobuooobbboooobbobuoobbssggsynugn
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000 | h = maxh, 00000 (FEM) 000 (FDM)
1 max |u; — c;| max |u; — U]
max |u; — | ’T max lu; — Uy ZT
20 9.9960e-002 || 5.6460e-001 | 5.6505e+001 | 9.3717e-001 | 9.3792e+001
40 4.9980e-002 || 1.1397e-001 | 4.5623e4001 | 2.1899e-001 | 8.7666e+001
80 2.4990e-002 || 2.8304e-002 | 4.5322e+001 | 5.4550e-002 | 8.7351e+001
160 1.2495e-002 || 7.0638e-003 | 4.5245e4001 | 1.3625e-002 | 8.7270e+001
320 6.2475e-003 || 1.7652e-003 | 4.5225e+001 | 3.4055e-003 | 8.7250e+001
640 3.1238e-003 || 4.4125e-004 | 4.5221e+001 | 8.5132e-004 | 8.7245e+001
1280 | 1.5619e-003 || 1.1031e-004 | 4.5219e+4+001 | 2.1283e-004 | 8.7244e+001

0590002000000 2)0000000000000000O0

000 [ h=maxh 00000 (FEM) 000 (FDM)
=l | Py gy, [ T
20 9.9960e-002 || 2.6234e-001 | 2.6255e+001 | 4.7922e-001 | 4.7961e+001
40 4.9980e-002 || 5.8603e-002 | 2.3460e4001 | 1.1147e-001 | 4.4625e+001
80 2.4990e-002 || 1.4460e-002 | 2.3155e+001 | 2.7627e-002 | 4.4238e+-001
160 1.2495e-002 || 3.6035e-003 | 2.3081e+001 | 6.8921e-003 | 4.4145e+001
320 6.2475e-003 || 9.0015e-004 | 2.3062e+001 | 1.7221e-003 | 4.4122e+4-001
640 3.1238e-003 || 2.2499e-004 | 2.3058e+001 | 4.3048e-004 | 4.4116e+001
1280 | 1.5619e-003 || 5.6246e-005 | 2.3057e4+001 | 1.0762e-004 | 4.4115e4-001

DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD}LDDD
gogbbbuogobbooogbbbuoooobbbouooobobboooobboboo
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5.5.3 UUO3000

000 | h=maxh, 00000 (FEM) 000 (FDM)
Z max |u; — ;| max |u; — U]
max |u; — | ’T max lu; — Uy ZT
20 9.8616e-002 || 7.5530e-003 | 7.7665e-001 1.3265e-002 | 1.3640e+000
40 4.9308e-002 || 1.8409e-003 | 7.5717e-001 3.5150e-003 | 1.4458e+000
80 2.4654e-002 || 4.5748e-004 | 7.5267e-001 8.9240e-004 | 1.4682e+000
160 1.2327e-002 || 1.1420e-004 | 7.5156e-001 2.2397e-004 | 1.4740e+000
320 6.1635e-003 || 2.8540e-005 | 7.5129e-001 5.6048e-005 | 1.4754e+000
640 3.0817e-003 || 7.1344e-006 | 7.5122e-001 1.4016e-005 | 1.4758e+000
1280 | 1.5409e-003 || 1.7836e-006 | 7.5120e-001 3.5041e-006 | 1.4759e+000

0 511: 0003000000 )0Ooooooooooooooooo

000 [ h=maxh 00000 (FEM) 000 (FDM)

T Ly T =
20 9.8616e-002 || 3.2234e-003 | 7.7665e-001 | 2.8981e-003 | 2.9800e-001
40 4.9308e-002 || 7.8594e-004 | 7.5717e-001 | 7.2424e-004 | 2.9789e-001
80 2.4654e-002 || 1.9493e-004 | 7.5267e-001 | 1.7945e-004 | 2.9524e-001
160 1.2327e-002 || 4.8706e-005 | 7.5156e-001 | 4.4580e-005 | 2.9338e-001
320 6.1635e-003 || 1.2174e-005 | 7.5129e-001 | 1.1136e-005 | 2.9313e-001
640 3.0817e-003 || 3.0431e-006 | 7.5122e-001 | 2.7833e-006 | 2.9307e-001
1280 | 1.5409e-003 || 7.6076e-007 | 7.5120e-001 | 6.9579¢e-007 | 2.9305e-001

DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD}LDDD
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000 | h = maxh, 00000 (FEM) 000 (FDM)
1 max |u; — c;| max |u; — U]
max |u; — | ’T max lu; — Uy ZT
20 9.9960e-002 || 1.8215e-002 | 1.8230e+000 | 1.9696e-002 | 1.9712e+000
40 4.9980e-002 || 4.3410e-003 | 1.7378e4000 | 5.1814e-003 | 2.0742e+4000
80 2.4990e-002 || 1.0726e-003 | 1.7175e+000 | 1.3128e-003 | 2.1022e+000
160 1.2495e-002 || 2.6737e-004 | 1.7125e4000 | 3.2933e-004 | 2.1094e+4000
320 6.2475e-003 || 6.6793e-005 | 1.7113e+000 | 8.2402¢-005 | 2.1112e+000
640 3.1238e-003 || 1.6695e-005 | 1.7110e+000 | 2.0605e-005 | 2.1116e+000
1280 | 1.5619e-003 || 4.1736e-006 | 1.7109e4+000 | 5.1515e-006 | 2.1117e+000

0513000300000 2)0000000

goboobooodn

000 [ h=maxh, 00000 (FEM) 000 (FDM)

T e T T e
20 9.9960e-002 || 7.5355e-003 | 7.5415e-001 | 6.5218e-003 | 6.5270e-001
40 4.9980e-002 || 1.8953e-003 | 7.5874e-001 | 1.7107e-003 | 6.8485e-001
80 2.4990e-002 || 4.7405e-004 | 7.5908e-001 | 4.3064e-004 | 6.8958e-001
160 1.2495e-002 || 1.1855e-004 | 7.5932e-001 | 1.0795e-004 | 6.9142e-001
320 6.2475e-003 || 2.9639e-005 | 7.5936e-001 | 2.6997e-005 | 6.9167e-001
640 3.1238e-003 || 7.4097e-006 | 7.5936e-001 | 6.7505e-006 | 6.9181e-001
1280 | 1.5619e-003 || 1.8524e-006 | 7.5936e-001 | 1.6877e-006 | 6.9183e-001

DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD%LDDD
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